Run 4535 quartetwise, posH(O: Beam DH

— Laser ON Entries: 67924 Entries: 51173 aam1_1ach._pocHo
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Run 4535 quartetwise, asym0Osub: Beam ON
— Laser ON Entries: 67924 Entries: 51173
12000 — Mean: 15.1620 «- 01213 Mean: -0.0442 +- 0.0073
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Run 4535 quartetwise, negHO: Beam DIN

— Laser ON Entries: 67924 Entries: 51173 aami_Iach_noghi
— Mean: 108306 +- 0.0015 Mean: 5.8413 «- 0.0012 51173
— Laser OFF Std Dey: 03922 +- 0.0011 | Std Dev: 0.2816 +/- 00009 5.841
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-------- Histogram Vars

Positive Hel (ON): 10.983407 +/- 0.001514
Negative Hel (ON): 10.830551 +/- 0.001505
Positive Hel (OFF): 5.840836 +/- 0.001249
Negative Hel (OFF): 5.841284 +/- 0.001245
-------- Sums and Diffs

On Diff: 0.152855 +/- 0.001208

Off Diff: -0.000447 +/- 0.000986
On Sum: 21.813958 +/- 0.002767
Off Sum: 11.682120 +/- 0.002291
-------- Asymmetries
On Asym: 15.086631 +/- 0.119363 (ppt)
Off Asym: -0.044158 +/- -0.097274 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 10.131838 +/- 0.003592
BkSub Asym: 15.130789 +/- 0.153980 (ppt)
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Run 4535 quartetwise, posHO vs time
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Run 4535 quartetwise, asymQ0sub vs time

250

200

150

100

50

-50

—100

=
[T

«10°

*10

negHOD

bem

Run 4535 quartetwise, negHO vs time
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Run 4535 quartetwise, bcm vs time
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